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A H H BANT | FEMEME | 43 17H | TA128 [10A18H | 1H22H
2 ﬂ; 1|70k ER mg/ 0| sitsnzeec el f AT | T | BT | s
Bl ge| 2 |fskeR mg/0]0.00052% F|0.00055K75|0.0005577 | 0.0005 47| 0.0005 A ik
2% ﬁ% 3[BT mg /0| s b - [ 0-0003 7 0.0003 15| 0.0003 41| 0.0003 A< i
HO] 4 (g0 mg/0| 0.01L T [0.001 5| 0.00 14| 0.00 1475 | 0.00 1 A
e g | 5 |Aftizas mg/0| 0.05LL F | 0.024 | 0.024 | 0.02A | 0.024
;; %\L 6 |tz me/0] 0.0150F |0.00 15| 0.001 48 | 0.001 A 0.001 i
o|F| 1 |ErTr mg/0[misnaec] R | BT | BT | e
;k % 8 | RV 7 ==/L(PCB) mg/0|misnaec ] B R | S | B | B
{39 i 9 [Nz FL v mg/0| 0.03LL T |0.001 4473 | 0.001 A7 | 0.00 1 A7 [ 0.00 1 ATt
ffj’ BE| 107 h7/mar=FLv mg/0| 0.01 2L |0.001 473 | 0.001 753 | 0.00 1 A7 [ 0.00 1 ATt
1% ;fj 11| ramrz mg/0| 0.02LL T |0.0024173 | 0.002 4753 | 0.002 A7 | 0.002 A i
g; ;’E; 12 | U kRS mg/0{0.002LL T |0.000271i5]0.00027ii | 0.0002 47| 0.0002 A
el | 13|1,2-7mmxi mg/0]0.004LL T]0.0004 K| 0.0004 415 | 0.0004 A7t | 0.0004 Al
_ %\ 14[1,1-¥r7aRIF L me/0| g0 |0.00154i[0.001 43| 0.001 A | 0.00 1A
é)\ %— 15[ 2-1,2-Y/upxFL o mg/0[ 0.042L T |0.001 77| 0.001 4785 [ 0.001 A1 | 0.001 A
gl 4z | 16 |1, 1,1-RN)rrax sy mg/e| 1L |0.0015 | 0.001 A4 | 0.00 1A | 0.00 1 A
% f;z 17 (1,1,2-R)7maxiy mg/0[0.006 L T]0.00061ii] 0.0006 A7 | 0.0006 A7 | 0. 0006 A it
e [T ] 18(1,3-Y 77 my mg/0|0.002 24 }0.000245 | 0.0002 44| 0.0002 A 1id | 0.0002 A5t
?g £ 19 [~ r mg/0| 0.01LL T~ |0.001 A4 [ 0.00 1435 | 0.00 1435 | 0.00 1 ATk
5 % 20 [F U7 L mg/0[0.006 2L 0.000647 [ 0.0006:4ii [ 0.0006 A3 | 0.0006 A i
i;i a2l |rvvr mg/0[0.00324 T]0.0003415[0.0003 47| 0.0003 4355 [ 0.0003 A i
U f,% 22| F AR HINT mg/0[ 0.02L4 T |0.00243i | 0.0027755 | 0.002A4i | 0.002 74 it
- fé{ 23 |L v mg/0[ 0.01LL T |0.001 44| 0.001 5755 | 0.001 A4if | 0.001 A5
— | 4| 24 [ERER mS/m - 94.9 92.0 16.3 31.5
25 |5 mg/0| 0.8LLF | 0.054Ki | 0.05K3 | 0.05A4m | 0.05Ai

fj;f; 26 1254 me/0] 1LUF | 0.1 | oo | 0.k | 0. Lk

B |27 (AHEREE R L OVMHANERE 2 FR |me/0| 10LLF 0.7 1.5 0.6 0.8

?; 28 [k =L )~ — mg/0|0.002LL F]0.000243i [ 0.0002 4335 | 0.00024 i [ 0. 0002 A3

29 (1,4 A% mg/0[ 0.05LL T |0.005Ki | 0.0057415 | 0.005 445 | 0.005 A4 i

et | 30 [ A4 wrean| 1PLF - 0.020 -
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e H H By | FLUEfE | 4A17H | 7H12H | 10A18H | 1H22H
s ﬂ; 1 [7 v kR mg/ Q| wisnaece] i AT | HE T | BT | BT
B ge| 2 [kokeR mg/0]0.0005L4 F]0.00054i [ 0.0005 4453 000054 [ 0. 0005 A s
2% ;f 3[Ry mg /0| s sy 00003415 0.0003 4174 0.0003 417 0.0003 A s
B0 4 (gn me/0[ 0.01L4 T [0.001 4 |0.001 45| 0.00 147 | 0.00 LA
Hi ?Z 5 [AMli7 =L mg/0| 0.05LL T | 0.024 | 0.02A5 | 0.02A | 0.02Ai
;JZ %\ 6 |fts me/2| 0.0120F [ 0.001 4| 0.001 | 0.001 435 0.00 1 s
o| %7 |ErTr mg/Of itz R | BT | B | e
éﬁ % 8 [RVHE e 7 ==/ (PCB) mg/ 0| isnaeecy] B | i | R | e
Zﬁ i 9 |[N)/uoxF1L mg/0| 0.03LL T ]0.001 473 [ 0.001 A7 [ 0.001 A3 [ 0.00 1 A i
f’? BE 107 h7/ma=T L mg/0[ 0.01LL ] 0.001 443 | 0.00 14| 0.00 1 A3 | 0.00 1 A
1% ;f 11| rumxz mg/ 0| 0.0284 T ]0.002473 | 0.002 A7 [ 0.002 A7 [ 0.002 i
% ;'E; 12 (VUE bR =7 mg/0|0.002LL F]0.000241i# 0.000247# | 0.0002.41i5| 0.0002 A itk
Wl e | 13[1,2-0 70> mg/0|0.004LL ]0.0004A:ii [ 0.0004 47| 0.0004 A3 | 0.0004 A ik
— %\ 14|1,1-Y7mnxF1 me/0| g0 iy [0-0014 [0.00 14| 0.00 1A | 0.00 LA
é {ﬂ? 15> 2-1,2-Y/maxFL v mg/0| 0.04LL T |0.001 47 [ 0.00 143 | 0.001 A | 0.001 ATl
g |z [ 16|, 1,1-F)rmrT g mg/0[ 1LLF [0.0015K4 | 0.001A35 | 0.00 1A | 0.00 1 A
);3;'? § 17]1,1,2-N) 7=z mg/0]0.006 24 F]0.0006:410.000643# | 0.0006 15| 0.0006 Vi
By | I | 18]1,3-Y 77 m~ mg/0[0.002 L4 ]0.00027i| 0.00024:1i3| 0.00024:1if| 0.0002 A ifs
?g £ 19 [~ mg/0| 0.01LL | 0.001Ai# | 0.001 435 | 0.001 A5 | 0.00 1 ATk
5B % 20 (FUT A mg/0[0.006 2L ]0.00064i [ 0.0006A4i | 0.0006 4355 | 0. 0006 A i
%ﬁi |2l [rvor mg/0[0.003 24 F]0.0003 47| 0.0003 415 0.0003 4355 0.0003 A i
| o | 22| F AT me/0] 00224 F [0.00254 0.00243 | 0.00241 | 0.002 41
- fé{ 23|t mg/0] 0.01LL ] 0.001 i 0.001 475 [ 0.001 i | 0.001 A ¥
— | 4| 24 [EXIEERE mS/m| - 58.9 116 10.4 21.4
25 5o mg/0| 0.8LLF | 0.054Ki | 0.05K3 | 0.05A4 | 0.054K i

ﬁ; 26 (13555 mg/0| 1LAF | O.1K% | 0.1 | 0.1 | 0.1K3

B |27 |HEBEE R L O AEAEZE R |me/0| 10LLF 0.3 0.4 0.2 0.4

?i'i 28|k =) ~— mg/0[0.002 2L F|0.00027i [ 0.00024i#| 0.0002 4355 | 0.0002 A i

29 (1,4~ A %W mg/0] 0.052L | 0.005Ki | 0.0054¥5 [ 0.005 i | 0.005 A4 i
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H OH WAL Ve | 40178 | 7TH128 [10H18H | 1H22H
1 |7 kbW mg/ Q| sy B | B | R | e
2 |REBERUT AL KBZDOMDKEEEY |meg/0[0.005LL T10.000577# | 0.0005 47| 0.0005 47 | 0.0005 A i
3 [FRIY LR OFED/LEY mg/0f 0.1LLF | 0.01Ki | 0.014K7 | 0.014 | 0.0145
4 [gh KO DIbEY mg/0f 0.1LLF | 0.01Ki | 0.014K7 | 0.014w | 0.014;
| b | AR LAY mg/0f 1LLF | 0.055Ki | 0.05K7 | 0.0547 | 0.0541;
g | 6 [NMi7e b E ) mg/0| 0.5L4 T | 0.055Ki# | 0.0551i | 0.05A | 0.05A4
g | 7 [ME L ZEDOILEY mg/0f 0.1LLF | 0.01K4i | 0.014K7 | 0.014 | 0.0145
F| 8 [v 7 A TY) mg/0f 1LAF | 0.1 | 0.1KR% | 0.1Rd | 0.14K7m
Y9 [RUiG{LE 7 ==/L(PCB) me/2]0.003LL F]0.00055]0.0005 41| 0.0005 41 0.0005 A1
DIo[F7aa=FL mg/0| 0.320F [0.001 4% 0.001 418 0.001 435 0.00 1 A
o [11[Fr57ma=F1ry me/0] 0.120F |0.0014i#]0.001 4| 0.001 4 | 0.001 il
ml12[oraaxsr mg/0 0.200F [0.00243 | 0.0025:7 | 000245 | 0.002 4
o7 | 13 [PaEA bR 37 mg/0[ 0.02LL F]0.001 45| 0.001 47| 0.001 A | 0.001 ik
Yil141,2-vr7amx sz mg/0] 0.042L F[0.001 5% 0.001 438 0.001 %5 [ 0.001 3
51> 7naxrry me/0| 0.251F [0.00151% | 0.001 A1 | 0.001 41| 0.001 A
e % 16| A-1,2-V7naxFL mg/0| 0.4LLF |0.001A7 [ 0.001 47| 0.001 K753 | 0.001 A
Mol e [ 17]1,1,1-N)rrnzgy mg/0| 3LAF |0.001Ai#) 0.00 1A | 0.00 1 A | 0.00 1 A
~ g 18|1,1,2-R)rmuxi> mg/0] 0.062L F ]0.001 A7 [ 0.001 A3 [ 0.001 A3 [ 0.00 1 A5
% F119(1,3-Yr7naru~ mg/0[ 0.02L4 F |0.001 A [ 0.001 A4 | 0.001 K753 | 0.001 A
L APNET S me/0{ 00624 T [0.0064#] 0.00647i | 0.006 47 | 0.006 i
A ;'E; ol|o~or me /0] 0.03L F | 0.0035# | 0.0034# | 0.00351# | 0.003 A1
— | | 22| FANANT mg/0| 0.20KF | 0.02A% | 00274 | 0.025K1i | 0.02Ai
ml 23]~ me/0] 0.120F [0.00153]0.0015K74]0.001 %] 0.001 A3
5y | 24 [ L R OVFEDLEW mg/0| 0.1L4F | 0.014K7# | 0.014 | 0.014w | 0.01A4w
S (25 (135 F R OEDILAW mg/0f 50LLTF | LR LA 1Al 1A
{E 26| 5o E R OEDILEW me/0| 1500 F | 0.5 | 0.540% | 0.540 | 0.5
2 27 |roe=r. roe=vaan, mmmianromiien [mg/0] 20000 F | 0.5 2.3 4.8 2.1
K g [ 28 |KSEAA PR (pH) - |5.8~8.6 7.2 7.0 7.0 7.0
o | i [ 20|l FiomZ Bk (BOD) [me/e| 108 F | 0.7 | 0.5k | 06 0.9
| b 30 [{bsp iR sE Bk B:(CODMn) [mg/0| 10LLTF 1.5 2.4 1.1 0.8
O B EESS) me/0| 100 F 2 1 2 ERG
i ?%é 32 | e ey A A RGRIED [me/0) BEAT | 2 | 24 | RN | 2oRiM
/E % | 33|y it f @D |me/0f 30LLT | 2RI 2T 2 2 ARG
5347/ —NVEEA & mg/0| S5LLT | 050 | 0.5K0 | 0.5 | 0.5AK7m
i FE me/0] 3ULF | 0.KW | 0.4 | 0.k | 0.k
| S| 36 |High S A A mg/0f 20LF | OISR | 01N | 0.1 | 0.1
A o [k e A me/0| 1001 F | 0.8 | 0.k | 0.k | 0.k
| 738 ERRIE R L B R meg/0| 10LLF | o1 | o050 | o | 0160
Ll [Belrmrdfi mg/0| 2DIT | 0054 | 00518 | 0.05K1% | 0.05Ki%
5i 40 | RIGEREE i/ emd| oo | 10T | 10T | 10T | 10K
S NEER mg/0] 00T | 1.2 2.5 5.1 2.3
- 42 | A B mg/0| 16LLF 0.14 0.04 0.08 0.07
HAF X HA vetsan| 10LLF - 0.00048 -
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